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(ii)

. Choose the grammatically correct sentence.
(1§ _We are living in this house since 2
2) We have been living in this house since 20
(3) We have been living in this house for 2010.
(4) We were living in this house since 2010.

5 Choose the meaning of the underlined phrase/idiom. Q
In order to achieve success one should be realistic rather than living in a fool’s paradise.
(1) false expectations ) x_ (2) ambitions (0

(3) greedy ~. (4) nosey e
3. Choose the meaning of the underlined phrase/idiom.

Almost all the political parties today love to 1 e-gallery.
(1) to be dishonest “ 0 become popular
3) appeal to popular taste . (4) bringsocial reforms
4. Choose the meaning of th ined phrase/idiom,
If you study by bits ang& you can never achieve your goal
(1) Regularly. (2)  Emotiona]l
(3) Seriously :
) ously 4) Inc.onsmtently

5. Choose the appropriate phrasal v:arb. '
The novice teacher finds it difficult to the n
aughty boys i
- putou
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peas? chb‘l
| brOPfi‘]tcp due 10 11CaVY rajp,
 Choose e as_— yed of
6 "l(':h::ricka mmch“q(Z) callCd (3) calledat (4) calledin
b. | s
( .,‘sal Vef
.. . plll‘ lOSS _
roprid®®P™ e 10SS of a child,
7. Choosethea? SBT3
Nothing 01 the (3) makeover (4) makeup
(1) makeou! . fort? of '![hc sentence. s

) ngPp
(4) The house iS painted | :
o form of the sentence.

9.  Choose the correct passiv .
fast that 1t skidded on the road.

Joe was driving the car S0 ear
(1) The car was driven by Joe SO fast that it skidded on the road.

(2)y Thecar had been driven by Joe so fast that it skidded on the road.
riven so fast that it skidded on the read.

(3) The car has been d
(4) Thecar was being drivenW S0 fast that it skidded on the @6@'

10. Choose the correct form of the verb.
John __ TV.whenthe doorbell rang.
(1) amwatching
(3) waswatched

11.  Choose the correct form of the verb '
No one is allowed to n%

(1) fell (3) felled (4) fallen

12. Chooge the correct
in India / art o _ he given jumtg}ed scntence‘. -
1 ablished ancjent / street theatre / is a well
(1) 4,1,3 3 4 5
13. Choosethe’c:: @ 341,52 B 4L5%3 (f}_\;},jﬁﬁl/
gl of e given jumbled sentence
€ given jup ence.

on seeing the / ﬁrétqr
: Zlme? /Hari think / wL1(1at did / cobra for the

5

% 3 35412 @ 4,3,5%
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" U
14. Choose the correct order of the given jumb|eq sentence: hat she never dreamt/
she woulJ cross/Kalpana Chawla said /as 5 thil diin Karﬂal
| 2
3

the frontiers of space

5
2,4,1,
0¥.1,53,42 () 21,534 ‘m (4) 3\5
stions)

Read the following passage and answer the qucsti_ 15t019 Que i o

Mano Majra is a tiny place. It has only three briclg puildings, 01€ dogl‘:l::;}; l?l;ht?rl}l]ome of
the moneylender Lala Ram Lal. The other two are thg gjkh temple a0 & dc?l TH ¢ three
brick buildings enclose a triangular common with g large Peepul tree 111 £ue m}11 P €. Iherest of
the village is a cluster of flat-roofed mud huts and low-walled courtyards, wiich franfon atrow
lanes that radiate from the centre. Soon the lanes dwigdle into foot-paths and get lost in the
surrounding fields. At the western end of the village there js a pond ringed r ound by keekar trees,
There are only about seventy families in Mano Majra, and Lala Ram Lal’s is the only Hindu
family. The others aré Sikhs or Muslims, about equal in number. The Sikhs own all the land
around the village; the Muslims are tenants and share the billing with the owners.

15. The place described in the passage is a
(1) City (@) ’Glllage> (3) Town (4) Barracks

16. How many Hindu families are there?

(1) Seventy G) T (4) None

17. Who cultivate the land in Mano Majra?

{1y Juins (3) Missionaries @Qf—nndus

18. Lala Ramlalisa by prfession. = -

(1) Tiller (2) Priest () Moneylendh (4) Sweeper

19. What is located at the western end of the village?% ()

(1) Mosque % m Lal’s hoyge
(3) Peepul tree i &4)

20.  Choose the word which is simi ganing to the Underlineg word in the sentence.

Deforestation is respo the paucity of anima] Jifs

(1) increase shootup O smarehy) ey

21, Choose the word which is similar in meaning to the Underlineq word in the sentence.

The building has been refurbished recently.
(2) demolished

(1) constructed
(3) disposed |
e % /
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Choose the antonym of the underlined worg in the sentence.
m therole ofa Manager |ast month.

H linquisl ] fro
SRRl (¥ gaveup lamm’ 4) discontinued

(1) renounced _
Choosc the antonym of the underlined word in the sentence.

We are sanguin about the outcoMe of the meeting

1) glomm (2) happy (3) confident 4)
24. Choose the correct spelling: _
(1) Dilema (2) Dilkma  (B3) Dilemma)  (4) Dillemma

25. Choose the correct spelling:
1) © equipment
(3) equippment

26. Choose the appropriate preposition.

The custom is peculiar our culture.
(1) from (2 with (3) by

27. Choose the appropriate preposition.

o
'I\J

9
LI

genuiné

(2) equiptment
(4) equipmant

the coast of the sea.

Houses were built in a long row
(1) between (2) beneath (3) ‘under ((4) along:
28. Choose the grammatically correct sentence. O ‘
(1) Neither of the girls are willing to accept the proposal. O
.

< (2) Neither of the girls 1s willing to accept the proposal,

(3) Neither of the girls have willing to accept ther, \
(4) Neither of the girls were willing to awsal.
29. Choose the grammatically correct sent 0

?&1 hour.

(1) Ramesh said that he will be r
eady in an hour.

ready in an hour. )
eready in an hour.

(2) Ramesh said that he wj
amesh said tha
(4) Rameshsai

30. C/hoose the grammatically correct sentence.
(1) Roy came to the city last week.
(2) Roy has come to the city [ast week.

(3)__Roy come to the city last week.
4> - Roy had come to thp city last week. 2
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In questions from 31 to 36 each question hy 2 sequence WId:lce 1o fill that blank Y the

correct answer among the given options that fi( v« the seque
! G s with ¢ (5708 &8 TP T 608, mo
31 S0 36 S5 e @{1@&'5‘, @& OHS Koo, o€ AL )

31. 129, 141, 147, 159, 174,
4) 194
13 (
_____(})_ 1 9, @ (3) 192 =
32. 101,105, 114,139,188,

| (2) 270 (3)' 288 ) (4) 252
P = L
33. 17, 26, 63, +215 '

w7 @) 106 (4) 176

34. BDE, CFI, DHL,

35. ES50J, F72L, H128P, K242V,

(1) A3B @) GN (3) C36F

%. B,C,E,GK,M,

1) @ W CID (O
@,‘then the code for

-@vaoiﬁoé-

37. In a certain code, if ‘STATEMENT’ is coded as ‘GFYF

‘CONCLUSION” is . S
2§ 393 6'6° ‘STATEMENT’ ‘GFYFW.B‘&:, w53 ‘CONCLUSION’

g, 86 _

; e,.

(1) WKLWNFGRML QQ %

- (3) WKLWMDGQKL . (4)  XMLXOFGRML

- bk -
38. If FLRX=6and , then DHLP =

FLRX = 6 08050 EJOT = 5 wonsyd> DHLP =
AL 3 @ |

' - . e
39. Inacertain code if ‘ABfLITY’ is coded as ZYRORGB’, then the ¢
%8 303 S S“ABILITY’ d ‘ZYRORGB'™ 88 33,

“4) 8
Wy

ode for CCULTURE’1s

3¢, ‘CULTURE’ &%, 56

(1) XFOMREJV ) XFopgq,
, XFOGFIV 4 XGpygp,



40.  Sunil has put his watchon the

‘. Bé;)klet Code 3 B

2 table I SUCh a way, a0t 6 a.m, the hour hand points towards

North. In which direction, the minu(e hang Will point at 9:15 a.m?

(1)  South-East (2) West (3) South (4) North
B0DS S8 KBasrEs0s &8 0P a6cho 6 Kobre Hdchos®, T obe Swey &8
63 Brdohdty &od: 8650 fon 9:15 3 ¢ Sooninits © Kaasndo ",

AT Swew wi’)oéa &%
(9 ehoshss (3) sgeso (4) &858

‘__—__,___-———'-\

41. A person P walks 10 meters towards South. Then he turns to his left and walks 20 meters
and then turns to his right. Then after walking 15 meters, he turns to his right and walks
20 mieters. Finally he turns to his right and walks 10 meters, turns to his left and theri walks
20 meters. The shortest distance from the starting point to his present position is
(1) 20 meters (2) 25 meters (3) 26 meters (4) 28 meters - S
P o3 wf 568 ¢8e a3m 10 D08 ST, Sovs &5 JE50BS DY 80A 20 Doy
380, 85 a38 3o 8OMd. 8 oS 15 Dby 89, S35 HaI8 FHSK 86A
20 dLd Sdardd. DSvm 85 5656 IVSK 808, 10 DL $8D; ¥ SHITS S
QST IYSK 864 20 i)aéncsa SET . 885 20HB0S HoBP Hod BBy BE™
D) T8 o EAY drdo \
(1) 20 ety 25 & (3) 26 &t 4) 28

42. A man is facing East. He turns 45° in the clockwise direction and then
same direction and then 180° in the antlclockw1se direction. Wth
now?
(1) North (2) South-East (3) Nort (4) South
28 558 SrEdNE wdSopom GBIk, wEH a&ne:o TR (dg)ades® 45°
8BNS Ehard, ©d HIS* KHdRNE 90° 86}8@ T 353@'6§ 8¥S* 180° 8/ASS,
S5 IHPD I BIH VPIwmom Q
(1) e&égdo Q) s o @) sws) (4) $8eas0

43. Aisamale. If A’s mate

le’s only sister’s husband’s daughter is B, then A is the
(1) Brother of B (2) UncleofB
(3) Father-in-law of B (4) Brother-in-law of B

A 28 HSRd. A BE) FSos5s By J8E FED &Y RA0Y), §rdodd B wonsd,

IV A
<1i B Gt @56% (2) By, 89 8o So@ @k, s

(3? B &8, Sesord: (4) B Rw¥), s Bor er$5088
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graﬂ.d daughter’s daughter»

alady “youarc ternal pye, 1501

44, Ramtoldalady “you aremyme great o ther ‘ |

Then that lady 1s Ram’s 8rand fath® (4) Sister
(1) Mother (2) Daughtcl'~in-]aw 3y Aunt, L | 043734 "
oy © |, TR oY) s -
(1) 8 (2) §de
(3) &9 B dol& Ry, o Ay 260

meena says “Sita’s father Raman is the only son of my fafher-in-law Mohan” then Sindhu,
who is the sister of Sita, is related to Mohanp g |
(1) Niece () Da ughter
(3) Daughter-in-law @) Grand daughter
ufoé &.‘Dgz, éo@ c°535, o° érégmd) 30,,:).‘5 &”521 a:g a,,§ éo&’)J‘dJch ¥ 2)80 G—.‘Joa,
B8 FE0 oS ok, BrseSa
(1) ¥Ed0 Bo FEOI $558 wH%Hoa (2) %578 ©HS0H
(3) Fdeon ©H&od T 500 098008

46.  Among four friends the age of Mobhit is thrice t age of Karthik. Tarun’s age is half that of
Karthik. Anuj is six years older than Karthik but six years younger to Mohit. Then who is
the eldest among these four?
(1) Taun (2) Karthik &) o (4) Mohit ((\
S Do, Artrs @ng, Sabiy wEE Y, SEHEYI Sondodsy Wl
oof), Sy 5745 SaHRYS* Bifo. BE wTE TGS EoB s FoJurrds DETE
$Q, Arerd 08 6 JoSE)oren AN, ©IE 36 - 05030, BSDH?
(1) &6 (2) =85 (3) w%s

. |

Abus starts from a place A and the number Q@ the bus is % of the number of men.
d

In the next stop B, 5 men got off th b&\
twice the number of women.
started from A is

A o3 HB50 :soo&@maaé 28 2RP0R Ho Sty domg, @ohe' YO

- 1 S : A
Sopgs’ =5 Sodo. w8 © S8 359 BE OMYiv'e 415y 5304 mero 9loes

women got in. Now the number of men is
otal number of Passengers in the bus when the bus

BA Sorco fen . asyd @ 2R000 e 4

Cond A 56 wity) poserddsHs & aRVOBH0 g o Howg
D 4 D> @ il

R N N
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If i rtain code 917=29 and 826 = 36, then in that code 735 =
In a certain € ]
o6 apaeen o1y = 36 SR, 36 oSy & BAST TS S
5%
a2
3) 46 4 25
[
crosses another train T, whose length is half of the length
2 gt

49.

50.

A trai relling at 93 ; . ’
of ;;:tl tfali;rax;ivlilr]fg in opposite direction at 51 kmy/hr, in 24 seconds. Ifthe train T passes
2 bridee in 1 minute and 6 seconds, then the length of that bridge (in meters) is
o
50 FEHSt dKo NS £ON

S /o, Sx5ns" BOSTBRR) 28 Doo Ty,
BOSre3) $66308 Den T 24 REES oréoBe .

S @ 5085 >89 (&S’

posit

93 8.

51 8.55/K0. K08 ;5863'5§ a3’
L& 1 APAS3D 6 R FINE

Ben T) af So8d8& &Tn

(1) 640 (2) 860

T 1065 @ 120

A train 476 meters long crosses @ pole in 14 seconds. A person takes 7 minutes and
I to the distance covered by the train in

5 seconds to cross a platform whose length is equa
20 seconds. Then the speed of that person (in meters/sec) is
476 Do. &YKo w§ Den, w8 Howsnd 14 DEods® Téndod. ¥ Ben 20 085S

BoSrosie Srdsns $5r3308 FdHie LEIE, 2f 55§ 7 direw

52E38° ol 3ok iy @ Sg8 Boog), IS0 (oaBa/ELS®)

2) 13 ¢
Q L

(3 1.2
4) 1.8

P .
at intervals of 10 minutes

Sl

Some city buses start from a bus station with a speed 0
and moving on a straight road in the same direcﬁ erson is walking towards the
rvals of 8 minutes, then his speed

bus station on the same road meets the bu e@

(in km/hr) is X

2.8 20RAS od §Q) e3 an‘{oa‘\)\gfa ) &) 6o 887 10 dAdore ®odESneeS”
SRS BHSKH 40 39)

Koér> 20 8.20. 35:&»5‘@ K damon. ¥8 SFTP »
28 5588 & adyen © BodESPOS* IEHDBE0T, W& 36550 (8.50/K0.08)

e
vy

5D | 4 6
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Two towns A and B are separated by 70 kms on a highway- O“Cl.t.md'( starts from A and
another from B both at 10:00 a.m. When they qravel in the same dil CCll(')lj, they meet each
other at 5:00 p.m. and if they travel towards each other, they mect at 11:00 a.m, The
difference between the speeds of these trucks (in km/hr) 18
L& S o A 20050 B @S Shnsue socssirso 70 8.2%. AJ«‘ﬁJo& w8 k),
B fhod $5 ©8&y, 10:00 am § sabusdnsae?: OO 0d BIS HASrBoNEY o,
5:00 p.m. §, 280°Q g@é& S8 BonEs @05;'55013)358’2)(53 11:00 a.m. 8 g o,
& Bodd 8L MY BRGS0 (8.20/0.)08"
(2) 12 @) 15 (4) 16
estions has a statement followed by two
(s) follow(s) from the statement. Mark

52.

Directions for questions (33 to 55): Each of these qu
conclusions I and IL. Decide which of the conclusion

answer as
(1), If conclusion (I) follows.

(2), If conclusion (II) follows.

(3), Ifneither conclusion (I) nor (IT) follows.

(4), Ifboth conclusions (I) and (II) follow.

e 53 K0d 553588 Joidden: DBS* (H8 HHS* 2§ BSBII0, T Joxd Botky wlDden
(conclusions) &amon. EEHIBI0 Hod HBS* 5 o%dien ©RI0TRT AT00Td.

0558 (1) SrEdH 0kdsh, D dsrTso, (1) @d

%58 () S wHdel, H drwdo, (2) ©d
wHHes (D), () S° 286 HBooSEXFS, b d8reso, (3) O O(O
ot wHses (1), (IT) ©%H0h, 2 s3rEso, (4) ©d aiod @
L
N,

53. Statement: A company asked its employees to declare thej nd assets; but it has

‘been resisted by the employee’s union an6 loyee declared his income.
Conclusions:

} I)  Theemployees of this company have®@ onal undisclosed income besides their

salary. “

II) The employee’s union wa tsg he employees not to declare their income.

PS3BS80 1 28 Lo @@55@0& T ooty 530050 edod HELoS
S5 8. 579 & JAco S Bodrerd @@sé:o&.'sa 300030
D 28 h 885 worad IDTOK D880 Sy,

vl (BoyTen) !

D §§,° ‘af:) Sy, &TgRRo8 280 SROT D agy gy g0 wmabh 566

I} &&g8 Sododn é;é“gﬁ“me:o&ﬁ&&) TO gy,
Lig ’ =2 58833 3 §'008.
\Oc‘&) Becg_,éoif)g'-/__
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inforl'ﬂed his officers not to read newspapers during office hours.

54. Statement: Chief Manage!

Conclusions : : :
D Cll{lz;(:irilz newspapers during office hours is undesirable.
1) Office ffﬂciency will not increésc by not reading the news papers.

& 85 9T DoK SO 05050 HADo%0 BHocsres® TT;

B3SS0 1 Swpg JoGTE B
‘ ok Gassrdsd B8OOI,

©SH e (éméme:o) : |
HETOS" Frh@Eos Pl T oEAaRN0

) sogochin H0B50 ¥
I, ro; s@eH SE580T &oddo Sos sorgecsH FHrEgo DEHED

55. Statement : A bird in hand is better than two in bush.

Conclusions:
I)  We should be content with what we have.

II) We should not crave for what we do not have.
Lf DSBS0 1 2SS Bodkd K)“&o 08 BHeS* ) 28 HE Foew.

wdoden (Bomyren) !
H %S S ﬁssalw&)é‘ 5080 D08 BoEIBp.
) S8 3¢5 80 00 FTed B0 FoT SWEERES.
56. A decorative toy is made up of a solid cube with an inverted hemisphere surmounted totally

on its top. The edge of the base cube is 5 cm and the circular base of the hemi fixed
on the top has a diameter of 4.2 cm. If the entire surface of the toy is t%@l ted at the

rate of Rs. 2 per cm?, the approximate cost of painting is Rs. .
2.8 ﬁ% VRSV @gﬁ‘éo‘po:&: _Bnéo as‘goi)ééag 28 Yo gﬁw&)& S03Tr B E.

5050 GEEsn BN, Lo G 5 Do B Shtgsr GRog, dramgHsm
4.2 0.0, 8 B Swgo ﬁ{;@é@a’)@w@ 20.0. § & 2 FIYS, Borkd
Jonerd eoddy 8o iy (&&ﬂ@ &

(3y 348

© 328) (2) 340
ﬁ e has the radius of its broadest end as 2.1 cm and

57. A corncob whichis in the ; con
is oflength 20 cm. I@%ﬁnﬁ cm. of the surface of the cob carries on an average four
grains, then the number of grains on the entire corn cob is approximately
28 0505 wsrEdnes® &) aoogbgaél Sy BOY), Debe00D 3 a‘sé"géw 2.1.7%00.5%.
$08050 T 2 20 0.2, es ) 6 Do), GHdE00R DS B8 5.200.20.8%0
T Aoze TINS &0, e Dy Ko 30go homo Sopg weToNoJYT ~

(1) 562 °‘ 3) 525 4y 512

12-B
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58.
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The perimeters of the bases of a cylinder, 5 cone and @ hemlSpl(;cre are cac.h equal ¢
22 em. The cone and the hemisphere are (llli,lched to the ciroular €ncs of the Cylinder on jtg
top and bottom respectively. If the height of the cylinder is 6.5 Gl anci tl}e total heigpy of
the structure is 12.8 em, then the volume (V) ofthe entire structure (incm”) is approximatcly,

w8 Jnddn, 0l oy S00050 o ©iFge @), BP0 ° i alea “818,8
- = %

22 00.0.0% $3rSo. F0505) 0050 wiftgrerdd “&33‘3‘8’ QdFYo ﬁ?‘?l 53?:§°€50§o

- ¢ @ <

LN D000 Bob Kot SKHM wasemE. eaégd&" GB0E, IH 6.5 0.3,

N0 & K)U‘@Jsao Swgo I8y 12.8 0.8y, @ond, & Bogo 206‘&9;):633 6333§2r D

D0Iredn (V) (208 Do.do.o?) SeTonodm

(1) 324 2) 348

(3) 366 @@ 370

59.

[fa copper rod of diameter 1 cm and length 8 ¢cm is drawn into a wire of length 18 meters
of uniform lhickpcss, then the thickness of that wire (in cms) is

1 0.0, argdsn 8 0.5, 6 Ko 28 oh 43, 2868 Soodssn AN 18 :xm&;
DEY do 8 SR8, v BK B, 085 (Po.D.oS")

M 35 @ 5 @ ég((\

60.

A solid metal sphere of radius 6 cm is melted and a hollow cylifdersf uniform thickness
is formed from it. If the external radius of the base of t c@cg is 4 cm and if its height

1s 72 cms, the uniform thickness of the cylinder (i

6 0.a0. Tgargsn o a8 fe St mwp&, TRL008 DEEH So&sw §OAS
Sfen QPR drdrofowrd. @ “&ga’aﬁn z‘, arig a;ipgesgvgm 4 250.9. 30080
T D& 72 0.0, @008, & Jyid: & B8 K305 (0. 20.05)

&® a0 368

6l.

(3) 0.582 §& (4) 0.624

An article is sold at 25% profit. If its cost price and selling price are increased by Rs. 20
and Rs. 4 respectively, then the profit decreases by 1oy The cost price (in Rs.) of that
article is

28 SPB 25% oreBns T TR By g W ehBoo SOIT
. 20, 50008 &, 4 D0DB, T 10% Shenog o o ST e
é) ﬂfoD Sy (2) 600 o

(3y 625 | 4) 599




62.  Kapil bought 120 kgs of T

@ (;Bdfrktfq Code:| B

narind at Rs. 100 per kg. He paiﬁ%‘.’ 480 towards transport,
Rs. 60 ds other charges: and Rs. 0.50 per kg. towards taxes. To gain 25% profit, he
s. 60 towards othe 5
tRs
¢ per kg @
:a Z;olsze(;l ::‘prfu;g,po@éa gs" w088 &», 100 FEYS Faned. o8d &, 480 &
- o 1 PENOLMH BBt 8.7 28088 &ru 0.50 FD3S

51
Q . 60 & 8 3
zogii‘:‘ggzzam wddd 25% &rEw 3"065:6636:64 T 8¢5° 28 038 @siaéée)«oé

S8 (SrraSHeres®)
(1) 135.75 (2) 132.50 @ (4) 128.60

63.

Rekha bought an item for Rs. 4000 and spld it for a gain of 35%. She purchased another
item with this obtained agpunt and sold it at a loss of 20%. In this overall deal, she gets
(1) 10% gain ' (2) 15% loss o

(3) 10% loss (4) 8% gain

B 2.8 SIS &r. 4,000 £, TV 35% orgfSnst vy, © SYS s 36
SI% F, oo 20% SPS0IK O, & Indo TR S0k & Fodd.

(1) 10% ers5So (2) 15% $550

(3) 10% $55 7) 8% oraidon o

64.

A father shared an amount of Rs. 33,201 to his two sons and their shares are invested at a
compound interest of 4% per annum. If the amount received by the elder son at the end of

2 years is the same as the amount received by the younger son at the end of 5 years, then
the share (in rupees) of the younger son is (Take (1.04)* as approximately equa @25)
&8 do1& &r. 33,201 o &5 agdo B3rHod Hod, T8 2rmod & iﬁ@éé@.
DERDEDLET . DFDErHE 2 HoSHHES0e SSHTE o Q, DKoS ko
5 dodg)dve SHTE Fokd S0EI00K JBrISn © SSNUT SR LT S
(Srroves?) ((1.04)3 08y, GzLon0d) eSS 3

(1) 14826
(3) 17426

65.

\¥e- simple interest. At the end of first and
R$:.,300 respectively to reduce his debt. The amount
the end of third year (in Rs.) is

28 3g8 &. 3,000 o5 3 8 8% 2S5 Bew TDHYS VYT BREFIL. 0SE 83
O SNOWHED 8 805 Bods DoSSINL DIES SSodM Er. 1,200
Ho8a5w & 1,300 0% 300, O FOT BEYL SoTES DoSHToSENS wdd
BPoBBORS Iodin (rdahess?) .

A person borrowed Rs. 3,000 at 8% p
second years he repaid Rs. 1,200 3
he has to pay to clear off the

) 3546 4) 986.35 .
S—— ‘ B
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66.. What sum will amount to Rs. 5
'Rs. 1,706.36 will amount to Rs. 3,412.7>

Booklet Coq, :

, imple interest, if , su
20 in te of ! & pfE 1 i
6 )lfsazr(s) at :rsr?ﬂ he same rate of simple INteregyo
s A '

67 L0636 D € A8 erish Buay g 59 088070 T8 g dgy

o

& 3,412.72 wond, od &G Btk S0 86800 g8 & 320 o g5,
a8) 50y dods )

& o 25 2y {Rs. 400

(4)" Rs. 360

67.

There was one silver coin for every three copper coins with 2 nqmismatist, If 10 mope
silver coins are added to his collection, then the ratio of silver cons to the copper cojng
became 1:2. The total number of coins present in his collection NOW 1

w8 THINOKH D00 S48 I8 B8 furd, wp FBIVOL, o F08 TBy Ty
082, 6 10 308 TBSwosH ©sI DEGE 2B W8I I Ko 30a
S0 oA FB0e Diss Ko D4g 1:2 wondB. Biydo @8 5 do Indo FBine
SIEYS |

‘ (4) 100

68.

The sum of; a two-digit number and the number optained by reversing its digits, is 66. Ifthe

digits of the given two digit number differ by 2, then the difference between the two possible
such two digits numbers is

2.8 Bodose ‘c‘éongg, SRS woBeH ESHsrd Bosorr ST :\’nogpgg@a )
S0¢o 66. & RS Sodose DopgeS' wose 350(5853(5:5;3 2 3" &0 Jodh
Qe dhg Bokose dopge Boog) Bo. '

69. A boat goes 30 km up stream and 44 km d

Wi b 53'1666((\

am in 10 hours. Tn 13 hours, it can go

40 km up stream and 55 km down stre Her the speed of the boat in still water and that
of the stream (in km/hr) are respecti |
10 Hobod* et $aS Had 868 09" 30 8y $y544, DTiaist 44 8.2

3Hed. v 13 m DaHEIE SgE0EATSt 4 8.0.0%5 b0k RTTeiS’
55 8.00.00 3g)odi) bond ROSEM & MBS guggee T T

5D/ (8.20/K0.¢5%) ; |
1) 5,2 2) 6,2

_Oyss A

s



ﬁ - IP\SJ Booklet Code :‘EJ

hine i RS- 10,000, 1¢; iates at a rate of 10% every year,
70.  The present cost of @ 1113‘;61 Jfter fit depreciates atara b every'y

it will be valued at RS-

L.
(1) 3 years (2) 3'2' VRIS (4) 5 years

6 ssrogse ang, B8 99D 10,000, g sosddo T DeasE"D e

w80 10% wowsd, @ 900 & 6,561 m s3mas 58 s50%0

1
(1) 3 Josehss0e (2) ‘ 35 DoB)EBnen
S (3) 4 éoéégdéx@) , (4) 5 JodHHnen
71. If the 27, the 31% and the n' term of an Arithmetic Progression are respectively

1 and — 6—1—, then the sum of the first » terms of this progression is
2 2

=,
4
28 @o¥FdS0d 285, 318 HB0 nS Jmen SHJIM 72,5 0850 -6—?: ®oNS,

& ®o¥EAS0Ed B8 n e Indo

. ]! 1 ~ 3

3__2_
3.3
12 78'— 32 —E of L.‘.é 0
5—2 4-2> T |} 3°5
3 7
1 7
M 7 Q) —

10
e ST Al draW@ﬁin succession from a pack of 52 playing cards without

replacement, then t ability that they are all ace cards is
3
w8 Df DEERSHS 52 bt o S0b LETD SUE 288, BbS B Sog o D6

DE8QS” 28 BAK0m, gy, %% Sog o aSrdytor 8, ©d sreokr sl
53308 Ko éowégé :

e Al 4 |
) Sas G S () —
. 15925 % 260625

~'16-B
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g k217 then the probapij,
14, If two numbers are chosen at random frop, (12,5 4,500°
that the smaller of the two is less than 4, i

0
{1,2,3,4,5,6} f00d SSrEYNEOMT Bothy wogersd ol
£93 dowg, 4§08 DHB TITI8 Ko Jogrggs:

= .
30DEB 2 & 00 Bogg e

14

‘ o o L @
the numbers on their facec ;
75. Two dice are thrown at a time. The probability that the surm of aces s
a prime number is

3o, 28 1H v
Both DL 230 FRoATE. T8 SwgreR Ko Dop§Y P @S Rogg

eER8 fo dogrdgd
|

A 1 A —
¢ & o) 3 & %

B, e _
76. Where the island museum is located in Andhra Pradesh?
(1) Vijayawada (2) Salihundam
(3) Kolleru (4) NagarjunaKonda
BoBEaTI0t af Bdsns’ ABEng SHBEETe I Sok? ((\
(1) dmcdoaed _. (2) FdFvodlo, OO

(3) §8&%

QT
71. The first split in the National Congress occurred in 1907 é the following given session
(1) Surat session 2) N ssion

(3) Bombay session QC [¢Utta session
28OS SroRRS® s 1OE 1907 w 5'2,«'5‘2 NS3rIfoes* 56‘3505
@ srcs vsrdien) & o D T0E $5-395%

(3) Sowron HIrDF (1) Sose 855350
N : S TR iy =
78. InAndhra, the first widow re-marriage was done by the understated
- (1) GiduguRama murty @) K Veeresalingam

(3) Gurajada Apparao 4) s. MuddaNarasimh -
BSOS BnLBNEE Do ITHR) TEOR T Hae

aaoow&
(1) 8> oS58 D) 3 o .
_O) mows ey U




79.

IE Booklet Code : B

“The Khudai Khidmatgars” Were also known as
(1) Black shirts (2) Yellow shirts

(3) Red shirts (4) Green shirts
“PoB PSS & GO Srar PREw

(IJ- So T5Y e0 (2) a;)éoig) 5, 0

80.

Roman coins are found at various sites of Andhra that belong to the period of the following

(2) Satavahana
(4) Viayanagara

(3) Kakatiya
808 55 $2657708 Bobd 5008° BoES R 3o (@Fogroe® 5 T@Ben §78500.

(1), g S,

(3) s€bc%H (4) DucHBHY

(1) Chalukya

81.

The following award was not presented to Abdul Kalam.
(2) PadmaBhushan

(1) Padma Sri
(4) BharataRatna

(3) Padma Vibhushan
Bod YO T’ wd Eerody 2508808

(3) HEerBES (4) B85 Es )
ce power from

82.

The Administrative consequence of the Revolt of 1857 was the tr
one to another as stated

(1) EastIndia company to the British crown 6@

(2) The British crown to East India company

(3) EastIndia company to the Govemoﬁ@

(4) British crown to the Board of
1857 8&iertn HEgIFSOM; e codon" 058 Srdyd 280 008 2,868 oner

Sr80B. A
@o&oﬁ:‘ 00\ Wob OB50E8

(2) O8RS Dok &Y qodddr 008
(3 SRoBosr §oDd K008 KISGE wSESE

(4) DBGTS Kob 5§ ©D BEES

18-B
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bharatam’ into Telugu at the following place

g3. Nannaya has written ‘Maha
(1) Amaravathi (2) Nellore
(3) Rajamahendravaram (4) PedaVegi
$53)0% ‘S0 e EER) Beore® corod Bfégz?c/é @Fodos” (3.
(1) ©50058 (2 -deFd
3} oraoaroldRo0 (4) &3
g4. The Revolutionary that died in the Jail due to his hunger strike
(1) BhagatSingh (2) JatinDas
(3) SuryaSen (4) Chandra Sekhar Azad
Beod'’ 35 JorTIEHE s°eeor™ 50863008 DNH5EWd
(1) &iS Doh (2) =885 =T
3) BrEgOS (4) WSo2wS 2
5. “Kondakarlaava”is located in the following District
(3) Visakhapatnam (4) Krishna

(1) Srikakulam (2) Nellore

“SodEs ©B” & Bob B S0l
(1) gssodo 2) Boxd @ @) &

86. Belum caves are situated in which District
(1) Chittoor (2) Kadapa (3) Srikakulam (4) Kurno@
Bevo KTren X)) BT 28?
_ (1) D&z (2) 883 (3) @s°so¥o
87. Lord Lytton was not associated with the under stated
(1) ArmsAct (2) 1Ilb
- (3) Vernacular press act “4) éc ¢y commission

o8 OHS Bod BAWEI & Howolo

(1) escsogre wWeISw “
(3) I8 Hi®s BYo ; !& ‘
iab

egan in Champaran (1917), that situated in the following

@ D Eoas

88. Gandhi’s first satyagrah@}
State.
(1) Bengal (2) Bihar
(3) Uttar Pradesh (4) Punjab

rESBIOSt ol 83 Bost HEgrsR) IHES SoFES (1917) I Tgod” T

() BomS 3 636535 (4) Dowd
, owd
19-B
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89.  Who among the following was nota founder of “The Women’s Indian Association’
ion”

(1) Margret Cousins (2) Annic Besant
(3) Durgabai Deshmukh (4) JeenaRajaDasa
& Bod TBS° ‘B G 2080500 BIHRVADAS’ JHSS® Yoaodo SITH

2) ©0WoE

(1) 35388 §EQ)
(3) ogerol BFS0d 4) & o Td
90. Inthe following who was not the son-in-law of Rudhrama Devi

(1) EllenaDeva (2) Annayamathya
(3) Mahadeva (4) Prasaditya Nayaka

& (808 TOS® HBHTVD ©edd FATTHE

(1) Qg0 B3 . (2) oHosr Srdyg
| 4) ©Fasy ToHs
91. At which session of the Indian National Congress ‘Vande Mataram’ was sung for the first
time
(1) 1896 Calcutta session (2) 1908 Madras session
(3) 1895 Poona session (4) 1899 Lucknow session

‘& BSrSE0” BEBFTO ) 68 805 SoRD dSrdfost rdko 20had

1896 Sosa; H573T0) (2) 1908 Sogeo Hsrdo .((\
(3) 1895 gr dErddo (4) 1899 oF) sw;gip

92. Which of the following temple is very popular for paintings?2 ﬂ ¢
| 2) L :
oty

(1) Draksharamam
(4)

AR SON DSESH ¥R
(1) soedo (3) DoF*BeO0

[odIB

93. 'Who among the following resiguie Jto the membership of the “Viceroy’s Executive Council’

as a protest against Ja 1 Bagh Massacre | i
(1) Shankaran Naif (2) Dadabhat Naoroj

(3) Motilal Nehru (4) Subhas Chandra Bose £
% p g°Q
Bod TIS* IS 205 Trererh SES0B080 aE5Sm @R QQ“S&S )

SecBusnst_TETEr BT \
ﬁi $088 a"ozSoS> (2) o oeT o0 I6°2
) ol e i BPATE oy
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¢ following has not served as a Governor of Andhra Pradesh

4. Onc among th

4 (1) Ram Lal (2) Sarad Yadav
(3) Kumud Ben Joshi - (4) K.C.Abraham
Bo8 TRS* B SoBHET KB HATIOHBE
1) | o5 &8 ‘ Q@) #6 5765
(3) Sosnd B A (4) 3.2.0@T%0

———’—-—' . - . . -
95. Gandhiji became the President of Indian National Congress 11 which session

(1) 1923 Kakinada session (2) 1925 Kanpur sessi'on
(3) 1924 Belgaum session (4) 1926 Gauhati session
8 &A% 5oRR DSrBdoe5® mobd @(58@&6335(‘63
(1) 1923 s8¢ dSrSdo (2) 1925 s28m6 dSrDFo
3), 1924 BepfS> $57349) (4) 1926 F58 d5FBd0
96. The Simla Conference was held under the Viceroyalty of
(1) Lord Linlithgow (2) Lord Wevell
(3) Lord Elenborough (4) Lord Northbrook
REP HErIF0 J oS Lo QEerotiadod
(1) e§ 850SH
(3) erf IBIDE | 4y e§ 6§ I‘Q(O
97. Jyothi Rao Pule constructed the famous organisation g ‘\)
(1) Satya Sodhak Samaj (2) SatyaPan'@ maj
(3) SatyaKartavya Samaj 4) Sa&@ a Samiti
5805 FB IOFNS DG Do @
@ 585555 55720) ‘&Qéégéczﬁgé 5520
(3“) DEgEESg dSorezo . ““ (4) J&g8Ee0 IS
98.

Telugu Literature was hi @rﬁged by whom?

(1) Percy Brown & (2) C.P.Brown

(3) David Brown (4) Robert Brown
Beoih FIregl) wEghHEomT (FE)rodS F0VIE?

(1 8 &< <§2) 2. TS ) -

(3) A& &S (4) owof &S

e

21-B



P8 Booklet Code : B

99. In 1918 ‘India In Transition’ was written by

(1) AgaKhan

(2) MN.Roy
(4) LalaLajapati Roy

(3) B.G.Tilak
1918 &* (Hi5o00DS ‘@odEr BS EWrAAS ostd

1y ’_&9(?5;3‘5 (2 AN T

(3) D.2.80§ (4) oreor 0uHdTd

100. The rate of evap
(1) Areaofthe

(3) Temperature

oration of water is inversely proportional to

(2) Humidity

surface
4) Wind speed

IS asw‘bzﬁéa‘) Beo B8 IS SrSorSoes’ & 0000

(1) &Hos TR0

@Y RS

4) mé’) S
given below

101. The intensity of s

cattered light is maximum for the angle of scattering g

Ser08 H08Hm 5708 8PS KORO
Qy 45° (3) 90° 4) 60°

'ai)ié D HogHED

102. Acceleration due

to gravity is independent of

(1) Mass of objects
(2) Massof the planet . (0

(3) Height from the surface of

the planet

(4) Radius of the planet

Kothese g8 & e EHE
(Zlf Sd99e @5ém> 2) W z, @550"‘3
& GRoso0 ©0B I O

(3) B GHdde

of units of electrical energy

103. If amotor of pow
consumed is

er 10 HP runs for 10 @@en the number

S o8 Y BFA0TIEN) D85S

0 ﬁoéao.) SOARE0D

10 HP avmggsmo
1000 (3) 746

055 oy
(1) 100
104. The audible range of sound waves for human beings in kHz is
;‘)J'«‘Sé)oo JSBHS ¥ Séome w56 kHz Loy
2) O. 01-20

0.01 - 10
R ——
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P38

ontains

105 The ‘(Manganin’ U
M Copp¢r, Mang
@) \Coppeh Magnesium, Iron

anesc, Nickel

S0l St Godd

@a,;sy;%é DBgS QB e T8
o, SrofidR, I8 (2)  asod®, Foh)nodo, 85
(3) oh oo, 28050 (4) abos, 400D, 070
106. If external force acting on a body IS ze\ro then its linear momentum
(1) Zew , (2) Decreases
(4) remains constant

(3) Increases
L€ 9D ST erirgReo Er8g50 ©a0d T TP (5B
(2) ér{géao&

(1) #Sga»
id air from the following:

(3) DEoHSE0E
107. Identify the method involved in separation of components 0f liqu
(2) Steam distillation

(1) Distillation
‘ (4) Fractional distillation

(3) Sublimation
BSOS Hopel SHBHEIE SIEreD IGSo EoBTBS* &56@

(2) 58 w26 TgsS0

(1) g8S0

(3) “&ESo
108. Identify the pair of compounds which obey the law of m

TS AoET) Fe3oB JdAFTe 2306080 .
d1) CuO,Cu,0 D § 50, HySe

(3) CuS,CuO ' N “ ) NaCl, NaBr
109. Identify the pair of ores whic@é subjected to roasting from the following:

tes (2) Galena, Cinnabar

(1) Zinc blende, Copp
(4) Zinc blende, Cinnabar

(3) Magnesite, Pyrolusite
Bod Q 28 FHYoH FIS BB S*HBODNE HBoSBED

(I) 20§ Bo&, 556 283 PBES (2) RO, JKers

Si3 Sy es, 3 08 7 D
) AR, DG engnes (4) =08 Bob, d$ers

23-B




=

Booklet Code : ,
B

P8

o receive two unshared Nobel Prizes - one for chemistry and anothe

110. The only chemistevert

for peace is
(1) Alfred Einstein (2) Erwin Schrodinger
(3) Linus Pauling (4) Neils Bohr
S° $200%0 T8 Jrres® S5E0S’ aoé;g‘sé} & 8T

SRS 2TVER davoﬁaasa'too

B VoK) SRS "‘7'(_‘235'5;
(2) ABgR @&ord

(1) osB\& 288
(3) 855 Fdoh #) QS 56
111. The pair of stable covalent molecules in which the central atom is not obeymg the octet

rule is
(1) Methane, Carbon wuracmuoride (2) Beryllium halide, Boron halide
(4) Carbon dioxide, Acetylene

(3) Ammonia, Water
Bo|S¥ HESre0d) oRs adiaa’ar(‘\’)) FBoSERFoNSHYBE REZSIMT &) BB RBTEAoD

e 2308 :
(1) BS, sES BErsos ((2) 86000 FBE, F°T°S F*BE )
& 4y 5G)°-3-4R)5, SRELE

(3) o3y, ]
112. Which pair of groups represent the most reactive metals, most reactive non-metals
respectively in the modern peI'IOdIC table of the elements?
fodie &G, @%oéﬁe

Soreste S8 @S58 oéSéeS‘ @ég@é 8o
@t Ko (rD) 2od 28?7

{1y L15° (2) /2517
==
113. The colours of the solutions, when methyl orange ‘ {idator is added to acid and base
respectively, are
(1) Red, Yellow “@ Green, Red
(3) Blue,Red Q (4) Yellow,Red
DFS w80 BrES 0%, 58 (50080 EODIYE ‘36323 Sorren SEJm
(2) sk, 6D
(3) deoo, adm) 4) D80, B
methane. X and Y are respectively

drolysis of X gives acetylene and hydrolysis of Y Y gives
arﬁst)éa X, Y eo 383

114. Hy
(3) A14C3,B32C (4)/ BEQC,A14C3

20D 365" X R83OSK, Y Hode

(1) ALGC;CaC  (2) CaC,, ALCs
24-B
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115. Mat_cl;jhte f;)llowmg : .
ist -
A)  Transport of water from root to shoot §)
B)!| Loss of water from stomata

C) \\ Bulk flow of substances

Translocation
[[) Osmosis
[IT) Ascentofsap

D) ' Diffusion of water across semi permeable membrane [V) Transpiration
23655 ETs80

e e - 1
A) 35 00D 5om8 A (D38 ) &Todde
B) Jgore ogoe A8 E'ShHeo ) E5PI8e
C) dmgo dSrd HIEo ) @SgS0
D) o3 56&&86560 &gon A8 argdio IV) erdy@)¥o

.

Choose the correct answer

SIeIeSuby ms:»maa:h Qéﬁa?:&)éoo
@A B © (@D

(1) IV I II I

@IHNIQ;‘_
RN

G101 1 v I
4 o0 m v I

116. Special group of chlorophyll molecules undergo photo-oxidati photosynthesis can
be designated as AT :

SSeoady SoBrH§oe’ 5708 wd)Ednt &5 eH &raé SYGarge VB0 TS Q)
& Do JrAW;E O

(1? PSI (P7OO), PSII (P680) “a PSI (P700), PSII (P640)
(3" PSI(Pggo), PSTT(Pgyp) “ (4 2ST(Py9), PSII (P7)
117. Enzymes involved in both @;gs and réspiration are

31) gidollzclise & ID)  Triose phosphate isomerase
. xokinase IV) Malic dehydrogenase
B2RIF SoBrKBas $08050 TGOS Bodod3es o FSTI JoRoen
) oS8Ss i
L ) ©ErE 7S oo3sds
M) rsEss ‘

V) 50085 ar@ads

l Qe
(1) LI,Iv ) ILILIV @) LIV A (4) I,H,III>'
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118. Choose the correct pairs from the following related to F, generation.

) Monohybrid cross =371
[I) Dihybrid cross = 9:3:3:1
[II) Test cross ~Als]

_IV) Incomplete dominance - 1:2:1

F, $0888 Soxo0600 ST 2800 §08 TAK0E K KS0
) QF Ho¥8 So¥beadn =31

) &gPo¥s Sogdeadn - 9331

) $H88 So8eadn - 1:1

IV) edodrd awrdsddn - 1:2:1

1) LILIV @) LIV (@) LILIV

119. Observe the lists and choose the correct combinations.

List-1 List - 2 List- 3
A) Monera I) Unicellular with no membrane bound nucleus a) Amoeba
B) Protista I) Unior multicellular with true nucleus
C) Fungi III) Unicellular with true nucleus ﬁ‘
D) Plantae IV) Multicellular with true nucleus @ Mushroom
Bod =derod KSJod S8 3)«53092)0;63 K80 o%@*

dHe - | TN - 2 O - 3
A) 3o ) &5508 SosE E/Keo é:) a) doer
B) @&8x ) QeSol /%l) B 250 §edd b) a*é&o&r
C) 3doFe ﬁ(‘io D% Seodtd c) 2§
D) Sygozgo I@Qaﬁo@éoﬁo 2TV SRd d) JLHFdord

1) ALb B,JLa CI,d D,IV,c)
q(;z,kA,I,b Bll.a C.lld 1V, c
(3) ALa BJI,b CILc D,IV,d
(4) AILb BJLa  CIVd D¢

26-B
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120. Assertion (A) 1 Mitotic cell division takes place body cells, while meiotic cell divigion
3 takes place in sex cells,

Reason (R):  Chromosome number reduceq to half in mitotic cell .division and same

\ number of chromosomes is retained in meiotic cell division,

(1) | (A)and (R) are true; (R) is correct eXplanation to (A).

(2) (A)and (R) are true; (R) is not correct explanation to (A).

(3) (A)istrucand (R) is wrong,

(4) (A)is wrongand (R) is true.

Ao (A): RIS ©Q) 68 Seroes 2% 08, wond o088 Jees Bz

Seros® adkhKsod.

Q38e (R) : SIS RS Eéong MR8 Showadod 000 SoHEdn
FRIS* § oo Qowg Q8o &otnod
(1) (A) 50050 (R)Boder %0525 (R) 036 (A) K 506 D566.
(2) A)S006050 (R)Bodr ROSID; (R) 638 (A) & NBGDS e 5°¢0.
(3) (A) 38058 %0050 (R) 96086 s

(4) (A)D0&0I8 5°¢H SoBas0 (R) doghsa.

121. Ratio of tall and dwarf garden pea plants formed when a tall (homozygous) garden, pea
plant is crossed with a dwarf garden pea plant,

a8 D8 (doas0myz0) 26 0D TG 20 30 & Ho¥Smo @c&) 23833
FEY S8 Y 2T 0 Q8. :

() 3:1 (2 1:2:1 3) 1:2:1.&

122. One of the following is not an enzyme. Identify it &

in

(1) Trypsin (2) Gastrin é@
8

80& I¢3e5* 2,5¢3 Q0TI 5. T @)

(4) Steapsin

(1) @S (3) S (4) [SrS
123. Cold blooded animal with fou ambered heart is |

(1) Polar bear & (2) Whale

(3) Penguin (4) Crocodile

TK Koo KHoB EOAS e 88 208095 K8oWod.

(1) &8 denkowods (2) 8oKeo

(3) BRI : C $4) 3.:0«‘66)‘-)
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124. Match the following :

P 8 Booklet Code :D

No. of chambers in heart

Animal
A)  Shark D Thirteen
B) Frog ) Four
C) Cockroach D) Two
D) Whale V) Three
V)  Five
808 T8I uEHEB0d:
5555 $0@S* D e Howg
A) VD D Sk
B) $) ) oo
C) o°go8 - ) Bodkd
D) S8dokeo V) oo
V) o4

Choose the correct answer
OGS JSrerard) IFR0S0
A B © @O

00((\

() m N I 'V

v 1 1)) .
%)Z—ﬁrxwm (0*
4 NV m I <&

I8 \
3 NS
125. Erythropoietin - necessary for the productio fed blood cells is secreted by
(1) Kidney (2) ' Liver Spleen (4) Bonemarrow

LT GE1BE ©IBEZ0S m& 855 BI0B6

(3) %o

(4) Q0¥ Sogy

1) &r@iﬁ)oéoz (25:\&&;530
126 . The slogan “Thi@b ly and act locally” was given in

(1) Earth summi | (2) Kyoto protocol
(3) Montreal protocol (4) Chipko movement

‘THOSor BS* DoPod - Fgorr ©y0B0Kod” &I Dend QNI

(1) &B& S5y €O 5'ges* S

(B) SroBchs @'ss (4) 23 &&gso

28-B



P8 Booklet Code :

[l

127. Number of chromosomes in Turner syndrome.

w86 fo|§'S0S* 0B E*3rRFdne Sowg

(1) 14

(3), 46 (4) 47
128. Identify the mismatched pair.

(1) Snow blindness - Infrared rays

(2) Green house effect - Methane

(3) Ozonedepletion - Chlorofluoro carbons

(4) Biomagnification - Benzene hexachloride

808 TBS* $05° adio HBowod

(1) & 2053%3 - Hoedoes 8deTren
@ 08 fyr Perdo - B )
(3) &&°S §d - §EFE sGow
(4) 235 5386 - BoAS rE)§od
129. State bird of Andhra Pradesh. :
(1) Bluejay (2) Rose ringed parakeet ((\
(3) Peacock | (4) Bustard OO

BoBHBT oG B8

(1) Sody
(3) JI%d

4) S
130. ‘Ramachandra Panduranga’ is the oth the following revolutionary

(1) Jagannatha Payak Rao & . (2) Tantiya Tope
(3) Atmaram Panduran (4) SukhaDev

& (808 DI & ‘ool Frowosol’.
(1) =88 cs8os 2) & odcsr &0
3) @é“&)c'SJ Fodoson (4) Jopds
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131. In the state of Andhra Pradesh Upasarpanch of a Gram Panchayat is elected by the

(1) Voters of the Gram Panchayat

(2) Sarpanch of the Gram Panchayat
(3) Sarpanch and ward members of the Gram Panchayat

(4) Ward members of the Gram Panchayat
OFRAT THINS 28 (THVOTONS GHIBY 0T Bod T K00k
(1) o Somrond L&
(2) S Jomrond d8yB
.@m& Howrond HEow DB T Habged
(4) o Dowrond oy Jghgen

132. The tenure of a judge of the International Court of Justice is

(1) 9 years (2) 6years
(3) 5 years (4) 3 years
VOSTEAH  TYODTIL0S” wE TgoBry HEIseo
(1) 9 Jodgyoren (2) 6 doSKoren
(3) 5 DoSdoren (4) 3 Jodgoren
133. English is the official language of the following state in India
(1) Goa (2) Nagaland 0(0
(3) Uttarakhand ‘ (4) Assam O
*

N

T ESBIS0S' §0d TPHINS® wof i wHEE ram So
() & :

3) &dgopod (4),.@
134. In 1969 the Chief Justice of Supreme CWM officiated as the President of India.
Identify the person. “

(1) Justice S.M.Sikri & . (2) Justice K.Subba Rao
(3) Justice M.Hidaya (4) Justice P.N. Bhagawati

19698 2r68 S8 Bers TgcRBTrET T o708 s Ty dam

HgRTBoT . TB Kr80508,
(1) =235 RIS, e (2) =29 3.Joamoed

%
g3) 235 %, rEcHver ) (4) 23D 5.IS. FKS8
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. he following casc, Supreme ¢ Court of India g,d"bdjlldbcmc“tthatthc S
Inthe

135. f the Indian Constitution
1o amend the basic features o

plo WCKG:))I \knath Case 1967 (2) Kesavananda Bharathi Case 1973

53; A.K. Gopalan Case 1950 (4) Champakam Dorairajan Case 1951

o6 ToergoiBnS* STPE vl H5008 Vs Ko FGI0L0E BED 68 DH0EH

& (80d EHoS* BENIN0B

(1y FoSod 3%, 1967 Q) zizrsos w68 3, ﬁb

(3) s Aol 8, 1950 (4) <oHgaw 6"60"2&5 s, 1951
136. Directive Principles of State Policy are borrowed from the constitution of

(1) America (2) Britain (3) France (4) Ireland

sB¥ drEes §od TrErgorsn Sod (rotdodd

(1). &@ds° 2) LS 3) @& (ié Sleylel )
137. The house which is presided over by a non-member of the house

(1) LokSabha (2) RajyaSabha

(3) Legislative Council w (4) Legislative Assembly

DeSes® Behgdy R $58 HITSGHAT & d) ¥

(1) &€ %S |
gO((\

B) IS HBRS 4) s Je

138. After bifurcation, the total strength of Andhra Pradesh State Le @ etouncd
g DS SHTd woFRBT g TS HBAS Bwdo dopg
(1) 40 (2; 6

@) 50

139, Who is the first person scientiﬁcall)ﬁﬂlﬁed the Nat1onal Income of India after
independence?

(1) DadaBhai Naoroji @ (2) V.K.R.V.Rao

(3) William Digby (4) R.C.Desai
TS0l 808550 SN ISEMTAIR e Tay rtooﬁa DEBS* BRI T OHZNS woT FSTE

D87
(1 A
(3) ool J6% 2. 8. &6 . o
]9)
B Docwhs any (4) 6. BwoS
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- 140. Which of the following falls under service sector?
(1) Handicrafts (2) Sugarindustry (3) Poultry (4) Hotel
808 >8e* DI*Bord8 BoBIE Da9 S

() 3em@es (2 998 sogn  (3) £ sous  ((4) s,
' 14 1. Who is the father of India’s Green Revolution?

(1) M. S. Swamy Nadhan (2) V.K.R.V.Rao
(3) S.Gande (4) P.V.Narasimha Rao

EERE T0E VS VS HTVE JSK?

4 .«1) 0. V. AGNIES ) (2) 2.3 &6 2. 0H

(3) 2%. mod (4) 2. D. 36205¢ oo

1'42. Which of the following program was designed in the year 2000 by the Central Governme
to provide connectivity of roads and transport to all villages? ;

@o&'a‘&)é‘ 2000 & éoéé‘\)d.éwﬁ‘ Sogpabdio &y, darear FETrgod ¥ (MEre!
§9yohbrdorrso PIFTDES g0 28?

(1) PURA (2) SGSY Q3E PMGS 2) (4) SSA
143. In which year the program Mahatma Gandhi Naﬁonal Rural Employment Guarantge Schen
- (MGNREGS) was launched in India?
@ 5058)5065° Kol =8 (T
(1) 2001 - 200
144. “Sri Bagh Pact” was signed by the Andhra Leaders at t

(1) Vijayawada ( :
\ @ irupati

(3) Kurnool
Bod BHwAS BHBF0S" oI o edondE Yodsen BT
' (4) 8&H8

o=
fe. TN

Dreo GO T3 Do wdéaé@@ﬂ:ga&é&
(3) 2007 4) 2014

under stated

(3) s&mee

() Duohad
145'. The Book “Castes,in I teir Mechanism Genisis and Development” was written by
- (1) MN. 'RonQ , (2) V.D.Savarkar
(3) M.K. Gandhi (4) 'B.R.Ambedkar
‘ a%0508” oI oF) TRSTE

g onS BoBokr - 36 Bo5da, BIVS ©ob

2
(1) /2%0.38. T Q) 2.8 TS
(3) H®3. mob

—-——‘-—-‘-’—
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146. ‘Mount Batten Plan’ is also known as

(1) June 3rd plan (2) July 14" plan
(3) August15" plan (4)  September 5™ plan
‘SFoSerdS P8 Ao Erd Banard

) =5 3 @’aw@b (2) =~8 14 He®

(3) edRlS @erds 4y vRout 5 s

147.

Which session of Indian National Congress passed resolution on, ‘National Economic
Programme and on Fundamental rights and duties’

(I) Lucknow session, 1936 (2) Lahore session, 1929
(3) Karachi session, 1931 (4) Delhi session, 1932

88 8D SoES Do) B dLrBFoSt ‘wEos ©8% SEgEH5050 $oB00 (EE
TEY, g @c‘&)ézﬁao’ BIFoT K :

(1) o8 35-3%0,1936 ‘ (2) >FE $85573%0,1929

GL_so0 s50390,193D) (4) 8d 3s740,1932

148. Gandhara Art is the contribution of the fdllowing dynasty
(1) Maurya - (2) Kushana
(3) Sunga ‘ (4) Gupta
o8 30NEE 0 80d So¥) S%eaeﬁ‘&)& ' (0
1) 365 - 2 Sodren QO
(3) ®od 4) %D

149. Who was considered by Gandhi as his pohtwal
(1) Bal Gangadhar Tilak ai Naoroji
(3) MahaDeva Govinda Renade opala Krishna Gokhale
T8 85 orafos KHKPH™ 56
(N &8 Korri6 80§ & . (2) Traon Fo'w

() %583 5‘5)@ 44) ﬁ‘:ﬁwé‘b{% Fd)

150. Vijayanagara kingdom 1s completly disappeared with this battle

& SolEAD asngo = ((é ST ango)

(1) Battle of Penugonda | (2) Battle of Kampili
(3) Battle of Chandhragiri (4) Battle of Topuru
QRCDHIRE FSrugo K oo s’ Edododoriclogso

(1) Sorod oS0 ' (2) Eod oo
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151. Which is not affected by the “Policy of Doctrine of Lapse’.

(2)

(1) Sambalpur- 1849
4)

(3) Nagapur- 1854
ragtogon DEOSY TORREND D47

(1)/ bonsirs - 1849

@ 4r6 - 1852
4) wdosrt - 1850

Udaipur - 1852
Berhampur - 1850

3) &858 - 1854

152. Swadeshi as a purely economic measure for the development

was preached in 1840, by

(1) B.GTilak
(3) GopalRao Deshmukh

2)
(4)

1840¢5* %38 S@™A), g EBO% o836 HOFSrHI)RS &

of Indian Cottage Indyg

LalaLazpati Roy
Aurobindo Ghosh
g éﬂsf.ﬁq)?_)«’é @gé 53‘%50(7‘ S*Qod;

ereroRIB TP00

(1) a2 88 (2)
g)/ﬁ‘irocré) 35505 ) (4) ©80G A

153. Match the following }
a) Delhi i)  SirColin Campbell
b) Kanpur ii)  Sir Hugh Rose
c) Lucknow iiij) Major General Home Lock
d) Jhansi iv) General John Nicholson
285 Goe50B ((\
a) &9 i) &6 5Ox smoaB O
b) 58 ii) &6 Jogh ¢
c) o8 iii) §? Fao o
d) &) V) TS AEFSIQ
(1) a(i) b(ii) c(iii) d(iv) - a(ii)_b(ii) c(i) d@

(3) a(iii) b(iv) c(i) d(ii)
154. The length of a day is longer tha
(1) Mars ( nus

(3)

iihe length of an year on this planet.

Jupiter (4) Mercury

00 2w HoSd)do [DIre0 EoB Q8D
3Y 2)T)8

(4) wogodd

& {0 &%
i e

155. The time difference between two towns located on the equator1

the longitudes of these towns would be

is one hour. The variation !

cre BgroTo 358§
4) 60°

£rS0@s0p R o Vol dhyere $o6g s SgE"§R0 2,§ ot € D&
Q) 15D 2) 30° @y 45°
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1d life sanctuary is the largest Tiger re

(1) Coringa wild life sanctuary
(2) Koundinya wild life sanctuary

(3) Pulicot wild life sanctuary
(4) Nagarjuna Sagar-Sri Sailam wild life sanctuary

& SSge0® wefasrEeago S SBF0S D VENE YOO es$8es (Fodo
(1)/ §or S8gEred wefolrdego
(2) Soddg SSg(Ered wzfoSrdeago
3) HOE 38515968 eesoSrEeago

serve in India.

T omd 6 - 8300 S50 red ©eosr3eag)

157. The hottest place in Andhra Pradesh is _
(1) Vijayawada (2) Kadapa (3) Rentachintala  (4) Guntur
SoPWHET TIRONOES gl (oo 1
(1) dmaHard (2) €63 553') Jow Dose) (4) Mobrdd

158. The lowest temperature recorded in a day:

(2) 02:00 AM

(1) Before the sunrise
(4) After the sunset

(3) 12:00 midnight
2.56%weS° wdgey SIS QHPE SITEY &0

(1) {r&'gesasrQ8 S0 (;2; &doso 02:00 ﬁo&%(O

(3) ego@ 12:00 Koreso (4) JorogdSocso Sugd G

159.

Match the following : O
List - I List - 1T * g

[) Kambalakonda A) %ﬁé\
) Nelapattu B) Prakasam
) Coringa C) patnam

IV) Gundla Brahmeswaram
- “Q%

Bo® T3 28DHBHTI[D
>hHa - | e I | |

) SowroFod !&& A) Srddy AT

) IJeodey B) &d&men So0csn @stFo
) ssoi C) dTpde)o
V) %od eirmyicso D) SordH

Choose the correct answer

SOF08 HErETR) TR0 | |
%, .C__II-D DA IVB) 2) I I-A 1D IVB -
—) I IB A VD (4 B I-C TI-A IVD
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The largest cropped area in India is irrigated by this method
(1) Canals (2) Tanks (3) Wells (4) Others

T ESBToS050 HobErd VTS Wik o HIFBS® FihBawatdd)B

(L rendeo (2) BEHHw (4) mdoen

161.

The Tea Research Institute is established at

(1) Darjecling (2) Jorhat
(3) Ootacamund (4) Silchar
E8BY0s® Basr$ BOFTETToo ay,d Fhowwdod

(1) @gdord

54 GEES0d0IN (4) deyd
162. Match the following:

List-1 List - II

A) Hyderabad [)  Sabarmathi

B) Lucknow | | ) Tungabhadra

C) Ahmedabad : ) Moosi

D) Kumool IV) Gomti

0B B BEHEHIE0 O((\
e -1 b e - 11 O

A) T ETrdd ) d268 * .

B) of) 0! ) o®£0

0 esymerds é&;

D) &&rmen ‘ @&ﬁ‘&@

(1) AV B-II C-II DI “Q (2) A-II B-IV C-II D-I
(3) A-IBICIVD-I\ | AL B-IV CTDID

163.

This Prime Minist has laid the foundation for “Golden Quadrilateral”.
(2) Indira Gandhi

(3) Atal Bihari Vajpayee (4) LalBahadur Sastry
rES8G%0 B, & HF$sod “;65(3 15636%)6"\& QDI 36‘6)
(1) 2556erS JiHv (2), 2080 m0®

(@) o8 uirsl =g
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llot System 18 followed in the electi

Ba on of members of
o (OlgenLok Sabha (2) RajyaSabha t
(3) State Legislative Assembly (4) Gram Panchaya .
B A80)8'Sb0e5” @;’wo@oféwcﬁaéoo

merdolf &80R Ao &E0H SEASIS
(1) o6 3 C(2) ozg :;e;sf )

(4) s Howod

(3) THITS Des

165. The tenure of Rajya Sabha
(1) Sixyears
(3) Fouryears
oragde 5PN008

{1] St Bengiees (2) 28 doddoren

(3) S Doddoren 4), ¥ des

166. The Constitutional Amendment Act that lowered the voting age from 21 to 18 years
(1) 69" Constitutional AmendmentAct (2) 615 Constitutional Amendment Act
(3) 63" Constitutional Amendment Act  (4) 66" Constitutional Amendment Act

£,830A 3000890 21 Sod 18 JoS&oresy SAoS G*zszﬁgﬁ D8 W&o

(1) 695 oremgorf J58e0 w30 ( (2]; 013 orergoll HH8eo @ (0

(3. 635 oargol 386 ko (4) 665 orergors D58 B
167. The Fundamental Rights in the following articles of the Indian Constitutibn.ate available

only to the Indian citizens
A) Article 15 B) Article 1 @
C) Article 19 D) Artic

FEEoergorSnest (ol w6y ) HESerest ﬁ@@ rE 0 S FH o Srgd

SEAL (oMM “
B 155 BEsmo ‘\\;) 165 ©86eo0

C) 195 HE6e0 @ D) 295 %880

(2) Fiveyears
(4) Permanent House

1
® 5o 3 B.C
o= L A,B,C,D

168, T,
(l)e a;r;sl:ed person must be produced before the magistrate within g period of
ours (2) 12 hours (3) 24 hours (4) 28 hours

&)6 5 ~ ~o° ;'1}]"(3 ‘;)(:'1) é)
( ;)050!335 58%‘% {§Od 936‘?,6! (\)5)0&)06‘0@ CXSJ ) éJ Jsmd)o)dw v
4 k 4 oo
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169. The clection symbol of the following political party is no

(1) RashtriyaJanatd Dal

2) TeluguDesam
E3; i flmiu and Kashmir National Panther’s Party

(4) SamajwadiParty
Boes %5.8) Tabo® 8 Ao Dime Do

1) orQos Ll
(2) Benkdio
(3) =30 %8050 596 IASS Fogsy F§
(4 d3rEd F§
170. National Voters Day is celebrated in India on
(1) January 26
(3) August 15"
rESBFoSt do% LY BIETR) Ao &ex

(1) 26, =558 Q2) 25, =558
(3) 15 ey 4) 26, $Sowd

171. Choose the correct sentences about Kuldip Nayar, who passed away recently

(2) January 25%
(4) November 26™

c) Hewasnominated to Rajya Sabha
d) He wrote “Beyond the lines: An autobiography” %
80 HEB0DS HEHD Soigs Krg) HOFS o8 80uH30.

a) gk '§6¢?’c°goe5‘ 20w & 6

b) LSS 68 T EhonST :aaamt.)

C) TagdE TRHIS Bobhwmdd @.
d)  “Beyond the lines; An aut gﬂphy”di)owdo

(1) a,b&conly ! \ (Zzi b,c & don

a) HewasborninKerala
b) He worked as Indian High Commissioner in Britain 0(0 ,
O

(3) b&conly ! (4) a,b,c,d

172. The world’s firsf'therma] battery plant inaugurated in the following country
(1) US{X : (2) China
(3) India (4) Japan

BROFS" FO S apgin oS & 08 Bos* FBoPorsndes.

e ——

(1, o3oes
@ as
(ﬁ) BIQ

38-B



Booklet Code : B

P38

Gold medal in Asia Junior M

en’s Singles Badminton

ayer won the

llowing pl
- akarta in July 20 18

. The _
172 hipinJ

Champions (2) Subh ankar Sarma

(1) Lakshya Scn -
(3) Rupinder P aul (4) Chirag Sel - O st OO b
2500 &) 2rBIOWS FONCVNRANO

20 2018 & SN

e85 0008 Barsdod.
[ orsbic - (2) oeosb 90y,

(3) &rposE & (4) Dok wS

500% wRosr 2mAEHE B

174. ‘Sadaiv Atal’is .
(1) A commemorative coin released by the Central Government in memory of the Former

P.M. Atal Bihari Vajpayee
(2) The samadhi of the former P.M. Atal Bihari Vajpayee

(3) A Welfare Scheme inaugurated by the Central Government on 25.12.2018
(4) A literary award sponsered by the Central Government in honour of the former

P.M. Atal Bihari Vajpayce

085 vLS’ ©IB.
(1) s BTE500@ oS DI TER s go ol ©abEgo I8 DS )68

JPE30

((2) Srd Reresold ©hS D0 FE e 5T ) OO
(3) 25.12.2018 & So§ HEH&g0wW PSoPoWAGS H0gH DEEo .
(4) S PSS Do wbd DI TEHoor f{"da‘go Eé@@é o aa‘)saacéoéaa’a

@‘23‘&‘55 @a“’dg

175. Onthe eve of Indian Indepc
pendence day, 2018 the fo 0@9 erson irthi
(1) Sepoy Vrahma Pal Singh é e ant s

(2) Rifflelman Aurangazeb ““

(3) * Major Aditya Kumar ¢
(4) Lt Col. Arjun Sarma &

o]
TES Fredoggh IS So, “60656?)0(7‘ 88 WiE VI FodS S8
@ Rirow Sy S Hoh N
(2) . 30508 BEoKES
(3) Ho=b WBSIKSrE,

4) =o
— ) T3305 595 wiys %6, ,
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(1) Kisan Unnathi Sochana Unnaty, Mah
(2)  Kisan Urja Suraksha evam Utthy g, Mahabhiyaan
(3)  Kuishi Unnath Suraksha Unnay, Mahabhiyaan

(4)  Kisan Utkrisht Suraksha Utthaan Magp,
KUSUM DJBos0a.

(1) i3S S8 IS SO Kodspasns

abiyaan

abhiyaan

( i?.) 8S 8 0T QN GeS 80558 oo

——

B) &x a8 S SNS DTDospS
(4) 8§ eign wop SES DTS

I'77. As per the RBI annual report for 2017

-18, released on 29t Aug 2018, the percentage
demonetised currency returned to the banking system was

29 @ﬁfg 2018% REE0DS 6%55 w508 ¥H Q08ase 8% J388 2017-18 Q564
QOB TS 30 6&5033(6 (S‘é..p_) arg08of Somrde &84 sSw;)cm.

178.

179

(1) 973 () 983 4) 100

The Egyptian photo journalist who won the UNESCO press freedo

m prize 20184
(1)  Mahammed Hussian Zaidi (2) Mahammed Duranj (@
(3) Mahammed Abu Zeid ‘

@) MahammedYasiru@O
UNESCO @5 65 38 2018 0 sons

SRR et JSE?
(1) Soos96 ToRS B8 2, S0 @D
Q)_5555 war 25 (‘éé% SrBE &S

. “Vruksha Rakshak” is

wood trees

(2) avaccine invented by the scientists to save trees from diseases
(3) aTree Ambulap ice launched by the Government of Andhra Pradesh
(4) ahospital esh&éh

ed by the Forest Development Corporation of Andhra Pradesh
“;sgg CEE” esa.
(1) ©oB&B7 Bmay agsosso B4 dEm §%0 dahdoDS ¥BgE ), 24
(2) 30908 S5 g0 80 8910um8 P Igen aldse 5y

D TS
(3}, woas B0 Fsopons ¢ ;@
(4) ©oEBaF dog

4)
(1) a special task force of Gov“ﬂé@Andhra Pradesh to protect the Red sanda

Y BSODRoS 5°5°)0Q F20DI 2.8 é‘?obéne?
\ . Y
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es to the foreign buyersin

8, which country banned the sale of existing hom
the country?

ces and rising homelossness in
(2) SriLanka
(4) New Zealand

ohHES AoS0@oB & P8’ 5%
So DHOoDI B340 A07?
4) - drgEero

in D through

180. In August 201
a bid to tackle soaring housc pri

(1) Singapore

(3) Switzarland

2 tH S8 BY) S0, JoE
288 THRfeomE @l Erddd ey 2018&° Q@

(1) 2oirs (2) 3eoos (3) 705%0;05
innovative, effective concept to absorb vitam

Bdos* 8)63}05)26 ﬁb;’r‘vzﬁo

181. ‘Noon School Assembly’ is an
sunlight for students. This is a part under the

(1) Project Dhoop by FS SAI

(2) Project Vitamin ‘D’ deficiency by FCI

(3) Project Sunshine by FSSAI 7
(4) Project Surya Namaskar by Government of India :
Dorgden Jdrggsod &ood DS D farodars
i), HaSS08E S & 808 (>BES" ariio
(1), ISSAI 78 @& &

(2) FCIa0 @;a&_gi)aa:s ‘%’ @aaoiwy (VDD)

() _FSSAL=0 &3§ HSRS) ((\

(4), Lordd Depggo 0 “ardgssoam S @B _ G \

182. Match the following. .
a) BRICS Summit, 2018 o) 0 sburg

"‘;’;awgﬁn >ETe0 @nod” oD

b) BIMSTEC Summit, 2018 Quebec
¢) Gy Summit,2018 O@ iii) London
d CHOGM -2018 “@ iv) Khatmandu
2EHES0B. Q
a) BRICS d&r3do, 201@& : ) S5§w§
B BIMSTEC sss»;%@ko i)  &3§
) G,dSr3%0,2018 iil) ©ods
1v) e 08

d CHOGM -2018
(1), ‘-, b-ii, c-iii, d-iv
(2) a-ii, b-i, c-iii, d-iv

q3_) a-1, b-1v, c-ii,@
4

W) a-iv, b, c-11, d-i-

A1-B
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o Prize 2018 Was awarded to the Prime Minister Narendra Modi for his

Seoul Peac
contribution

(1) Towards disarmament '
&) I promoting pente talks between South Korea and North Korea

(3) To improving international co-operation and fostering global economic growth
(4) To promote harmony among Asia-pacific nations

& (8od Goffod® 328 ERBMH dArS T8 2TV 2018 0580708 P IS8
Shoard JoDEHETE:

(1) dorosn@sde
2) &8 S00sr, &GS FOXro S&s 708 Sy DoroBodSodIEd

3) @oﬁéoﬁa L5 8RN0, D0 eagsﬁa‘;)é')go:so 2y0r0H0NS800E5)
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184. Nomadic Elephant, 2018 is -

(1) afirst baby elephant born in America through cloning technology in 201 8
(2) itisajoint military exercise of India and Mongolia

(3) itisajoint military exercise of Mongolia and South Korea

(4) itis ajoint military exercise of China and North Korea

Nomadic Elephant, 2018 ©3&

(1) §doh o mgo° 2018 S* @Rross® PEI O DK 1Y (0

) & OROCST BFe HooSHE PIE DI°GR0)
3) Somdasr, B8 FO0Sr BTe 200ing P ATGR0 *
.

185.

(4) B, 688 SO0 BFo DHodkng 28 g0 \Q
Gurudas Agarwal was = @ '
(1) A civil engineer working in Namami Ga% who died in floods of Ganga in

July 2018 |
(2) An economist to assess the proj Q&f Namami Ganga
(3) Anenvironmental activist died i Oct 2018 after a hunger strike demanding to clean

up river Ganga N
(4) A Human Rig@ died in Oct 2018 in a terrorist attack in Jammu & Kashrr}ir

BéTR oloeds
(1) S50 Kom @BES* Hadsn 2~ 2018&° forsd 660s® o6B0D PIS 00
(2) S5 forr | FBY Hgosrd) woBT TR 6838
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186. The launch vehicle that injected two satellites of the United Kingdom into orbit on

16t September 2018 from Satish Dawan space centre is

(1) PSLV C40

(2) PSLV C41

(3) IRNSS IH

(4) PSLV C42

SBAG°SS ©@ogdE oo 008 ASNIBE §0AGIE BobS Bodd &IWT 0D

PRond 16, 20188 8§58 HITES TTETE
(1) RS C40
(2) 2oHBISD C4l
(3) 26253535 1H
00VISD

187.

In December 2018 the Reserve Bank of India appointed the following committee to decide

the appropriate level of reserves needs to maintain by the Reserve Bank of India.

(1) Raghuram Rajan committee

(2) C.RangaRajan committee _

(3) Bimal Jalan committee |

(4) R.N. Malhotra committee

T880% By wrgody SE Joren e QOB 60&*03};0@@%5@0&@&
od

2018 &oabeS* erdBohH 823535 208 & (808 EED &)W
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(4) R.N. S5 1&g 80&

188.

The cyclone that devasted th tal boarder of Andhra Pradesh and Odisha in October

2018 wasnamed as ‘TIT, following country
(1) Bangladesh (2) Pakisthan
(3) Maldives (4) India

w28 201865° @oFHRT 500050 2. Sltopla® éd@‘oe‘:‘og Se380DS sk 88 m
TH5oES8w0 DS BFo
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(3) SrdHen | () wedgy . -
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living Index report relcased by Ministry of Housing and Urban

189. According to the Ease of V"
dia in August 2018, which city ranked first as the casiest city to

affairs, Government of In
live in India

(1) Navi Mumbai
(3) Punc (4) Rampur

SolE Ky S0 SLpSgSITe So@ds Ty wiily 2018 &* Ease of living Index
Jen38008 D368 s 8o r88B90e* Ease of living city m 9 $&:°08 30088 P50

odood.
(1) 85 Soooeron
@4y >SEs
190. The focal theme of 4™ ISF (India International Science Festiv

(1) Science for sustained growth

(2) Science for peace
(3) Science for transformation

(4) Science for Vigyan
45 IISF (0805 R0LOAIS PR) 2RH6)-2018 BE), DES H0

(13 2ox6 CTARNAL F3DEN0
2) #o&8 N0 (0

(
@) 65658 7%59:250)

(2) Greater Mumbai

(2) &6 Swoeron

al)-2018 1s

(4) Do EE w0 \ -
b@(zg 20187

191. Who among the following are women recipients of %

a) Malala Yousafzai
o

b) Donna Strickland @
c) Frances Amold “

d) Svetlana Alexievich § M

2018 Foo8 wF0HH8 Q& ToS* FodS Sotrde
a) Soerer o‘.ﬁrb&i)

b) &' QBurok

¢) @D G
d)  DET 05§D

(1) aandbonly ((2) bandconly) (3) 0,¢ anddonly (4) canddonly
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2. The Leaders and dignitarics of those Nations that involved in the World War - [ met here

on 11.11.2018.
(1) Paris (2) Berlin (3) London
o0e5¢3 @éo:ﬁoﬁngoé‘ dowogo H) Bro ©d3den $08050 e es 11.11.2018

865 A% 8 HIFBTRASTg.

@) @‘65> (2) BBS (3) ©odS (4) a9,

rkets in India?

19
(4) Masco

193. Which of the following is the Regulating Authority of Capital Ma
808 T83¢5° rdSBFoS” Bl $770), 280 dofo@oi Do 2B?
(4), ~NTO

(2) RBI (3) IFCI

194. What is the experience of the Indian Economy related to International Trade?

(1) Trade Surplus (2) Trade Deficit
(3) Balanceof Trade (4) Balance payments equilibrium

g8 3535 e@dafso DDE3?

@odTA TgFroAE Jowodod Eoatetss
(1) 88 Dorben CQ) 588 e

(4) Tgrd BYoJe 3R I T ogo

(3) 388 JdnFogo
195, How many commercial banks were Nationalised in India in the year 19807

rE5BE0st 1980 3 Ho58)50S rdabo Dabnds Teiag oo éozp@
) 3 @ 14 ®) 12
W

196. Which of the followiné’is said to be Third Pillar of the World Ec 2
(1) IMF (2) World Ba
(3) WIO (4) UNO

| B%os eBE $g5% Swrds Qogorr 28 S0d58
(1) ©odTrdad ($H30E @géoss 2Ig o0
\ A“ 4) o8goreg SN
197. According to 2011 census, whi Qi\s‘trivct of Andhra Pradesh (after bifurcation) recorded
the least sex-ratio?
(3) Krishna (4) Ananthapuram

(1) Prakasam (2)" Kurnool
2011 2arer B0 B5°60 BoGRBT (Defas ©¥0S80)S” vdgey (R-YKOA I 530

SwdS ger 08?7
(1) 5o () ssmen (3) &3 §4).®“60é§@<‘50>

—————

45-B



P8 Booklet Code : B

198. Expand NETA
(1) National Elcctronics and Technology Agency

(2) National Emission Testing Agency
(3) National Elcctoral Transformation Application
(4) National Energy Transformation Application

NETA ® D380t
(1), %3S dogdE) vob Bsjod JaR)
(2) 34SS dHRS BRoh R

( 53) IASS .D‘ﬁs:}des— L) DEAR @%‘ééS)
(4) IaSS 23§ ErHEIAS VRIS

199.'The man who got ‘Uttama Jeevan Raksha Pathak’ award for his bravery in protecting
52 Amarnath passengers from terrorist attack was

(1) Lt Col. Rajit Kumar (2) Shaik Salim Gapoor

(3) BabluMartin (4) Deepak Sahu
Badhe $ob 52 $08 wdTE SSF @0t FFTdos srdSoddors “Gg

335 S5 565" OTR ®oksod) 58
(1) 55708 Eo)5 Cas&srs Q) 5 5o £2r8)
(3) oz 78S @) 635 v g((\

200. Which of the following are correct regarding Jnanpith Awards. U
a)  Jnanpith Award 2018 is 58" Jnanpith Award * :
b) Firsttime in history of Jnanpith Awards, Jnanpith 20 warded

' works in English language
c) Amitav Ghosh was honoured with Jnanpi 2018
d)  Ravuri Bhardwaja honoured with Indn ward 2018

agéﬁaé' T8 Howofod & o&\'éﬁ ¥BSD.

a) 2018 TR0 vty ‘Sgag‘:éﬁ)é' TR :

b) gSh6 o %’3 Fse3rom 2018 b v wolf wrar Ferdgos’
B8 ERATH aswaod

c) 2018 pRDE fard - 0SS A

d) 2018 XHE Kord - ooiro o

(1) abé&conly (2 b,c&donly

(3) a&conly q4) b&conl
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